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Questions 1-5
A woman plans to plant exactly six kinds of herbs: oregano, sage,
rosemary, parsley, marjoram, and thyme. She places six pots side by
side in a straight line and numbers the pots consecutively from 1 to 6,
left to right. She will plant only one kind of herb in each pot. The
arrangement of the herbs is subject to the following conditions:
Oregano must be planted in some pot to the left of parsley.
Marjoram must be planted in some pot to the left of thyme.
Sage cannot be planted in pot 1.

Rosemary must be planted next to oregano.

1. Which of thg following arrangements of herbs from pot 1 through

6, respectively, conforms to the conditions above?

(A) Thyme, oregano, rosemary, marjoram, parsley, sage
(B) Sage, marjoram, thyme, rosemary, oregano, parsley
(C) Marjoram, sage, thyme, parsley, rosemary, oregano
(D) Oregano, parsley, marjoram, thyme, sage, rosemary

(E) Rosemary, oregano, marjoram, sage, parsley, thyme

2. If sage is planted in some pot to the right of parsley, which of

the following must be true?

(A) Sage is planted in some pot to the right of oregano.
(B) Sege is planted in some pot tc the right of marjoram.
(C) Sage is planted in some pot to the right of thyme.

(D) Parsley is planted in some pot‘ to the left of marjoram.

(E) Parsley is planted in some pot to the left of rosemary.
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3. If thyme is planted in some pot to the left of oregano, which of
the following must be true?

(A) Thyme is planted in some pot to the left of sage.

(B) Thyme is planted in some pot to the left of rosemary.
(C) Oregano is planted in some- pot to the left of sage.

(D) Oregano is planted in some pot to the left of rosemary.

(E) Oregano is planted in some pot to the left of marjoram.

4. If parsley is planted in some pot to the left of marjoram, marjoram

could be planted in which of the following pots?

(A) 1 (D) 4
(B) 2 (E) 6
(C) 3

5. If oregano is planted next to thyme, which of the following must

be true?

(A) Marjoram is planted in pot 1.
(B) Sage is planted in pot 2.

(C) Rosemary is planted in pot 3.
(D) Oregano is planted in pot 4.
(E) Thyme is planted in pot 5.
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Questions 1-5

Exactly seven persons — P,Q,R.,S,T,U, and V — participate in and

finish all of a series of swimming races. There are no ties for any

position at the finish of any of the races.

V always finishes somewhere ahead of P.

P always finishes somewhere ahead of Q.

Either R finishes first and T finishes last, or S finishes first and
U or Q finishes last.

“If in a race V finisheé fifth, which of the following must be true?

(A) S finishes first.
(B) R finishes second.
(C) T finishes third.
(D) Q finishes fourth.
(E§ U finishes last.

. If in a race R finishes first, V can finish no lower than

(A) second
(B) third
(C) fourth
(D) fifth
(E) sixth

If in a race S finishes second, which of the following can be true?

(A) P finishes before R.
(B) V finishes before S.
(C) P finishes before V.
(D) T finishes before Q.
(E) U finishes before V.
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4, If in a race S finishes sixth and Q finishes fifth, which of the

following can be true?

(A) V finishes first or fourth.
(B) R finishes second or third.
(C) P finishes second or fifth.
(D) U finishes third or fourth.
(E) T finishes fourth or fifth.

5. If in a race R finishes second and Q finishes fifth, which of the

following must be true?

(A) S finishes third.
(B) P finishes third.
(C) V finishes fourth.
(D) T finishes sixth.
(E) U finishes sixth.
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Questions 1- 6

Five ships — J,K,L,M, and N — are to be unloaded on 5 consecutive
days beginning on Ménday and ending on Friday according to the
following conditions:
Each ship takes exactly one day to unload.
K must be unloaded on a day preceding the days M and N are
unloaded. ‘
L cannot be unloaded on a Tuesday.

M must be the second ship unloaded after ] is unloaded.

1. If M is unloaded on Friday, which of the following must be true?

(A) J is unloaded on Wednesday.
(B) K is unloaded on Tuesday.
(C) L is unloaded on Monday.
(D) L is unloaded on Thursday.
(E) N is unloaded on Thursday.

2. 1f k, M, and N are to be unloaded one immediately after the other

in that order, the two days on which ] can be unloaded are

(A) Monday and Tuesday
(B) ‘Monday and Friday

(C) Tuesday and Wednesday
(D) Wednesday and Friday
(E) Thursday and Friday



